




Is a trial that leads to an unpredictable outcome.  



Set of all possible outcomes (eventualities) of the random experiment. 

It is denoted by  (read omega)



Is a set of outcomes of the sample space .

It is a part of the sample space . 

An event can be represented as a phrase or as a set.





ഥ𝐀
ഥA

ഥA
Remark:
Card() = Card(A) + Card(ഥA)



AB



Remark:
If the two events A and B cannot occur 

simultaneously, then AB = 

A and B are said:

“incompatible events”

or 

“mutually exclusive events”

A  ഥA =  so A and ഥA are incompatible 

events.



AB

Remark:
A  ഥA = 

Card(AB)=card(A)+card(B)-card(AB)
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ҧ𝐺



ത𝑇



𝐺 𝑇and

GT



ҧ𝐺 ത𝑇and

ҧ𝐺ത𝑇



G ത𝑇or

𝐺ത𝑇



A = {R1R2; R2R1 ; B3B4; B4B3 ; G5G6 ; G6G5} 

with order











B = {R1B3; B3R1; R1B4; B4R1; R1G5; G5R1; R1G6; G6R1; 
R2B3; B3R2; R2B4; B4R2; R2G5; G5R2; R2G6; G6R2;
B3G5; G5B3; G3B6; B6G3; B4G5; G5B4; B4G6; G6B4}

RB – BR  
RG – GR  
BG – GB 



C = {B3B4;B4B3;G5G6;G6G5;B3G5;G5B3;B3G6;G6B3;B4G5;G5B4;B4G6;G6B4} 

BB – GG 
GB – BG 







D = {R1R2; R2R1} 







E = {B4G5;G5B4;B4G6;G6B4} 











False.
“at least one ball is black”







False.
“at least one ball is black”
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



False.
Two outcomes: RB and BR
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